N = O &

2008H = =0l &F LA

T2 0t
AF=THE =S

SN S

AL E & A

A

SN EH.S(3) - MEAY - BAS O At ot dd 5 HRE2
0 At o8
M2 1t 2,229,538 2,156,839 72,699
ANFETHRAES 335,724 270,570 65, 154
MZINE P2 185,770 142,315 43,455
KIS AI2ted AZH=XI 2,520 2,800 A 280
203 LR F=&H| 2,520 2,800 A 280
03 AHFAHIFAY| 2,520 2,800 A 280
OXIgA AR 1,260,000& 1,260
OFEIIAZIANLERE=A 1,260,000& 1,260
XA E235 29,645 33,820 N4 175
201 B2 AH| 5,420 7,620 A2,200
02 239l 5,420 7,620 A2,200
OAI & &HI s Xl 5,420
— XS WEHSEHIAIAIAE R B
22| 242 ,000& = 1008& 2,420
—1NEHIT2IHI| RAES 2,000,000 2,000
—AEE28)| FAES 1,000,000 1,000
403 XMXISHS K20l 24,225 11,000 13,225
02 ZI|I2SOHICHSHCHE AL HI 24,225 11,000 13,225
ONU+UE BAIAE RXE 422
11,000, 000& 11,000
OEF & SEANYAMEEAAY SN2
22| 13,225,000& 13,225
NN S 28 146,105 97,195 48,910
101 Q14 Hl 33,165 0 33, 165
10 JIZHZ22XNEES 33, 165 0 33, 165
OBl M2 HL M EBIALY 33,165
s 29,430% * 5 x 180 26,487
—5d=224 29,430& * 5 x 254 3,679
—40 BE= 30, 166,000& = 0.0994 2,999
201 Bt AH| 85,940 97,195 A 11,255
01 AtR2t2lbl 23,690 32,275 8,585
Ogddt24| 20,490
— XA HEd 2 2,750
c KAl Eeel 35,000& * 20 700
RgAl ATy
90,000& * 20 1,800
Mo HEE Y 50,000& = 5& 250
— XA MMsEX 2L 9,170
SEDXNAN 2 50,000& = 1002+ A 5,000
ABF D XA P 55,000& * 30=+A 1,650
< DAL A 40,000& = 208+A 800
ELONE= DN 20,000 * 20Ef A 400




= A
X‘l iH
C.|- Ol

SUE=nl

AF=THE =S

SN S

SH-EM O (3H) - MRAY - BAS 01l & 04 i Hl D2
CHARNANEEE F2E7Y
33& = 40,0000H 1,320
—Nel=+2 DXA F
60,000& * 30t~ 1,800
—XgAH 228 89 22 750
Nzs=% 50,000& * 15JH0 & 750
—AE HEE 7Y 1,650
- At 2 Y 2,000& * 3003 600
S CT 2 35,000& * 304 1,050
—ABTelH)| ABEFY 4,370
- EUY 250,000 = 1204 3,000
cH 1,369,500& * 10 1,370
ORI W= 1,200
—XNPNEF AZtS
20,000& = 209 = 33| 1,200
o1l =l 2,000
— QI ANHIA OIRIE &Y 222 7Y
200,000& * 5% =« 2 2,000
02 2324l 62,250 64,920 A2,670
O332= % HA 62,250
—KISA DR A LS (L)
250& = 60,0004 15,000
—XNSNIXNEES(SII)
1,750 * 20,0002 35,000
—=S=% 2 MY DXNNES(SI)
1,750& * 7,000 12,250
202 Old| 27,000 27,000
01 =Wodl 27,000 27,000
Ol M2 L HIZE A
20,000& * 3% = 180 10,800
OXNgAN g2 & =+ =d
20,000& * 39 * 180Y 10,800
OULEXNYXE HSE IX
20,000& *» 39 = 152 * 6& 5,400
Hd4 HANEE 24 3,000 6,000 A 3,000
301 LEBAZ 3,000 6,000 A 3,000
12 JIEtEAZ 3,000 6,000 A 3,000
O8AEN &3 10,000& * 3009 3,000
NLHE 25 QIHEER 4,500 2,500 2,000
303 Za3 4,500 2,500 2,000
01 Za=3 4,500 2,500 2,000
OXNgME =58 A&z
500,000& * 3H=F A 1,500




Sk
X XH .
S Tt

ool

T2 0t
AF=THE =S

SN S

SN M. C(B) - MIEAR - AR 01 & o Chm Hl =2
0l &b
ONRAHASRE SAHEZ I
150,000& * 20X 3,000
KAl g 2 E 21,600 12,560 9,040
NN MW xA5 = 7,600 8,560 A 960
201 LEr2FH| 7,600 8,560 A 960
01 AtS2teltl 7,600 8,560 A960
Oget=EZH| 7,600
—a=8ME3 =22 2,000& * 1,500 3,000
—AFIMA HA22 5 2,000,000& 2,000
~HYHES (Y 2UENTY
2,000& * 800= 1,600
- AS0lH==2 (282 M)
50& * 20,0002 1,000
KA 2 A CashBack Xl = 4,000 4,000
301 ez a3z 4,000 4,000
12 JIEtEA=2 4,000 4,000
OX AN 2UHA CashbackXl= 4,000,000& 4,000
N E=Zaz Xa 10,000 10,000
303 &3 10,000 10,000
01 Za3 10,000 10,000
OMEAN 2243 10,000, 000& 10,000
NMEgd= & It 43t 128,354 115,695 12,659
IHE =8 JFZ T AL 122,634 115,695 6,939
101 0124 8] 33,198 30,995 2,203
10 JI2ZtHZ2Z2XNSES 33,198 30,995 2,203
OF=&IIA T AL 33,198
—Jl2a 29,430& *« 6% = 150 26,487
-2 29,4303 » 6% * 21 3,709
—4HEE= 30,196,000& = 0.0994 3,002
201 et | 80,436 84,700 A4,264
01 AtS2teltl 75,436 81,700 NB,264
oggragy| 74,176
—SHZTA YL MBI BUTY
33,000& * 50 /2 825
— =S AU (ZH)ENN 2L
62,0003 * 259t A 1,550
— B0 Y Q2T FE
50,000& * 2008 * 23|/2 1,000
—22H X1+ 30,000& * 502 1,500
—&dEF===2 69,301
&I 19,5005 * 6,930€/2 67,568
2= Al 500% * 6,9302 /2 1,733
Oo2d9=+¢ 1,260




M THR Dt

gjﬁ%%iﬁm 543 (cel:ag)
SN (BH) - MBEAY - BAS 0 Ak 2 %*l‘;f{gf; inE=Er
—SEMNEIIS e BALT
70,000& * 9¥ = 23] 1,260
02 =329l 5,000 3,000 2,000
OzZ222 2 HAl 5,000
—FEIIAEX REZ &5 5,000, 000& 5,000
202 44| 9,000 0 9,000
01 22Ul 9,000 0 9,000
OMNE =& JtHIZ AL
20,000& * 3¥ = 150! 9,000
EI2UME ¢=2 A2 5,720 0 5,720
202 04| 720 0 720
01 2UWHbl 720 0 720
OEZ24 M3 Al A
20,000& = 18 » 36 720
303 La=2 5,000 0 5,000
01 Za3 5,000 0 5,000
OEZ2UANIAL=E ZIMZ 5,000, 000& 5,000
S| H THAFZE2| 1,804,310 898,949 905,361
SIH=S S 676,936 412,616 264,320
EHst 3| H 22 75,608 49,518 26,090
201 YBet2AH| 67,808 48,918 18,890
01 AFR2teld] 44,270 35,770 8,500
Ogddt=24| 33,780
—=2IEEX & JIAXEX 2
40,000& = 12&€ 480
—&AMER EFEEX 2
20,000& * 20Ef A 400
NN Y NS ol
60,000& » 70& 4,200
—3HEE 2 30,000& * 100 3,000
—QUEAMA A EEHF OIY
3,000 * 105 » 30& 900
—=E235 482 N2
200,000& * 53] 1,000
—UEEE =&
20,000 = 203 = 128 4,800
—NE=E2 EVS 1,000,000 * 43| 4,000
—20073 H MEREIOM HE
10,000& * 5005 5,000
—20073lH MEME & MHREDOANH A
A BES 5,000,000& = 23] 10,000
odgdsg 10,490
—ZAMBARAAG S FALE
100,000& = 5 = 20 10,000
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W
3| 0 T v 22
SN2 =22

SN EH.S(3) - MEAY - BAS O At ot dd 5 HRE2
0 At o8
N ErEEEEEEE
70,000& * 7H x13 490
02 =324l 23,538 13,148 10,390
OB222 < MAl 18,738
—SENNEE 2 1,500
(s & 58
60,000& = 9O = 23] 1,080
(AT E L HEHSE)
30,000& = 7CH = 23] 420
— XS XA 4,688
2000ccOlot & 360,000& = 30H 1,080
- HESEI 400,000& * 3CH 1,200
=3 -IPNE==DN; 300,000& = 4CH 1,200
- SEHSE X 79,000& = 2CH 158
A2HII=S X 35,000& = 3CH 105
EXTES I 157,500& * 6CH 945
—NsSi B2 550,000& = 21CH 11,550
—LQEQLI(MMIEELDA HIE)
2,000& * 5005 1,000
OAAE&EHIK XY 4,800
—SAIUHE S X224 400,000& = 128 4,800
202 o4 H| 7,200 7,200
01 2UWod| 7,200 7,200
OZelgR SR A
20,000& » 3% » 10 = 128 7,200
301 YEt8E A= 600 600 0
12 JIEIE A3 600 600 0
OSAFOEHA Ba= 30,000& * 20AH 600
HAIZ2 S22 222,000 20,000 202,000
405 XHAHF S| 222,000 20,000 202,000
01 XA =SEFSHI 222,000 20,000 202,000
OFANRIRRU(2IELE N, T AIAS D
JEHE AR HAE 192,000, 000& 192,000
OFEANSE WHFLHIB) 30,000,000 30,000
22 XeE 2el 379,328 343,098 36,230
201 LBt HH| 107,638 107,638 0
02 =329bl 107,638 107,638 0
OXteEsety| 107,638
—S858 13,080, 000& 13,080
—AESEE 5,448,000 5,448
—NEESE 3,640,000& 3,640
—agse 7,845,000& 7,845
—=8se 9,032,000& 9,032




Sk

T2 0t

Seanszan (e am)
S FB SR (3) - NRAY - B2 sy i Bl DB
—AESE 3,253,000& 3,253
—Sd3at= 9,684,000& 9,684
—AEs2 13,012,000& 13,012
—&AX 12,324,000& 12,324
—sSxd=xt 11,494,000& 11,494
—UHEgs=s 18,826,000& 18,826
301 et a= 690 460 230
10 SAMAHIEAS 690 460 230
OJIANM=UE A0S 242
30,000& * 23H * 13l 690
405 tHokF SH 271,000 235,000 36,000
01 MY =SSF=HI 271,000 235,000 36,000
OZ8&&XH(3300cc, ===, 2AF)
65,000,000& * 2CH 130,000
O=&8 & E8XxH(2000cc, £=4)
35,000,000 35,000
OS =Xt (120 ACt2IXE 1€)
46,000, 000& 46,000
Ot (ZH B35 022 1€, 0/&, &
Of) 20,000,000& = 2CH 40,000
OLEEEXH(1500cc, FRIMEX AN S&
ZAE) 20,000, 000& 20,000
ZEZFMat2e] 345,061 371,333 N26,272
Metate| FRFA 345,061 371,333 N26,272
101 @124 4| 24,045 22,623 1,422
10 JIZ2HZ22XAHsSEs 24,045 22,623 1,422
OFA & SFMAEC 21,421
—Jl=s 29,4303 » 2H = 200 17,070
—522RY 29,4303 » 2% » 41 2,414
—404 E82 19,484,000& = 0.0994 1,937
OBARMER
35,0008 * 6H » 5& * 23] 2,100
OEMNEH &F 52,3743 » 5H x 23 524
201 2et2dt| 307,716 348,710 A 40,994
01 At22teltl 53,743 52,167 1,576
Oget+=Zl 52,073
— SR Mo Mot MEHZAR AAFY
50& = 10,0000HK 500
—=2Z2SMa 2e|HE 7Y
100,000& = 4& 400
—HAEE FY(2%) 150,000& = 82 1,200
—SIEX(HEEIS) 7Y
24,0003  10&A = 123 2,880
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ool

T2 0t
S H M ak2te|

=32 Motz

A-E . (BIH) - NEAY - Ba S O At ot i HRE2
—STAUSE PY(2F)
40,000& * 17904 * 63l 4,080
—MdIIE 2 2,540 * 20004 508
—&II8E FY 3,720
HAS (DS E3IM)
2,000& = 3001 = 128 720
- MO oHA D 25,000& = 80 2,000
- HJD| E2lES MMFY
100,000& * 103l 1,000
—HEIHY| 100,000& * 33| 300
— S A S A= 70& * 9,087 * 53| 3,181
— =3 S M A= AL 16,200
=2 (28, ZAH)
120,000& = 110& X| 13,200
2T SIS 42
300,000& * 103 3,000
— &Il otz B =2
600,000& * 12& 7,200
—=3& St&EA 24F M A
12,1002 * 40004 * 63 2,904
-2 NHBAL FIg=2 X2
120,000& = 128 * 2JH4 2,880
—EAN Y o3 HY AEA
1,500,000& = 13| 1,500
—HAL ASAL BY HEsaR
300,000& = 128 3,600
—St&4A Hig 28 wEt
30,000& = 1702 = 204 1,020
Of e =4l 670
—E= oMLK /AE NS
50,000& * 23] 100
—Hol2Xel X s
50,000& * 13| 50
—ggt2e| X |EWNF 50,000& * 23] 100
— M|t 2| X FE NS
210,000& * 29 = 13 420
(@I E==1s] 400
—FANZ2ES L= 200,000& = 29 400
ogx= 600
—&EAEH A0 & XHX X
300,000& * 23] 600
02 =329l 253,973 296,543 N42 570
O32322 < MAl 183,678
—SEMNEHELZS(F A 800,000& = 23] 1,600
—TVAIE = 7,000& = 280H ~ 12& 2,352




]
Za g a2
Celi 2B

SH B SR(E) - NEMY - BES 0f &t i
&Iz 127,692
JlZE= 6,300 = 550KW x123 41,580
AEZ 89.7& * 80,000kW = 12& 86,112
—HIIZ (25 2tAH) 831
== 5,3208 = 3KW = 12 192
MNEE 1333 = 250KW = 123 399
Adgsstlaz 20,000& » 128 240
—d=ERl= 1,4108 = 800m* 123 13,536
—ot=k= 3963  800m x 12 3,802
—=01E88= 108& = 900m" = 12 1,167
— Mol = 4l 19,742,0008 * 1.3 25,665
— Bl &S M =2 3,533,000& = 1.3 4,593
—g=88 Je2Es Asld
100,000& = 321 * 18] 300
—E=ALEED HH
100,000& = 13 100
—d3x FA(2FH, 23)
600,000& * 3 * 12 1,800
-0 FIEM =5
120,0008 * 2004 240
O¢ =2l 12,071
—=AA I (2HY 22e)
9233 * 154 » 120 = 204 3,323
—25 2AN(BR 2+ 2Ld)
9233 * 154 » 120 1,662
—EMFE MRA(HAFHZR)
9233 * 15 £ * 1202 * 404 6,646
—d& MO0 & oA
1,465& = 30 » 102 440
OAEEHI= XYl 58,224
—=3% 2,000& = 9,087 18,174
—&1 1,300% * 960 1,248
—2S A RAl22/H 1,000,000& 1,000
—Stis EX SX 22/l
70,0008 * 33 210
—Hds FA224l 200,000 = 33/ 600
—2d)| FA2cl 2,870,000 /2 1,435
— A HIEE A 1,800& = 9,087 16,357
—3AN R2Ea 11,000& * 900 9,900
—=H83 Fa 15,000& * 100& * 22 3,000
— 0012 = Xl2eldl 3,000,000 3,000
—WHI & dEI| 2K
300,000& 300




Sk
X XH .
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T2 0t
S H M ak2te|

=32 Motz

S FB SR (3) - NRAY - B2 0f 4 o i Bl DB
—ZO0HQ!l LelHIoIE(SAII)RX2e
500,000& = 2CH 1,000
—EAHUE RXE= 2,000,000 2,000
202 OfHl 10,800 10,800
01 2UWAHI 10,800 10,800
O=37Me X AEHEAM
20,0008  3H = 15¢ * 123 10,800
206 i =4l 2,500 2,500
01 TZHI 2,500 2,500
OBMNEEE X35t 500& * 2,000=2 * 23| 2,000
Ostz+¢ 20,000& * 200K 400
Otlz+¢ 5,000& = 51 x 43] 100
RS 782,313 115,000 667,313
EMN=XE SEHE 250,000 0 250,000
401 Al EHIZL S| 250,000 0 250,000
02 A AIEAHYI 18,344 0 18,344
O& A& AYI 18,344
—&2AEHES 230,000,000& = 3.73% 8,579
— 23t N EZA 9,765,000& 9,765
04 AlIEHI 230,000 0 230,000
OAI&HI 230,000,000& 230,000
06 Al&=20i4 1,656 0 1,656
OAlZ 20l 230,000,000& = 0.72% 1,656
HAAIE S ALY 79,210 115,000 A 35,790
401 Al EHIZL =2 0HYI 79,210 115,000 A35,790
02 A AIEAHYI 4,210 0 4,210
O& Al Z A HI 50,000,000 = 8.42% 4,210
04 AlIEHI 75,000 115,000 40,000
OAl£H] 75,000
—EA Jtzs M4 € A
5,000,000& * 104! 50,000
L% HE2 HH(2MA) 25,000,000& 25,000
S8 M AUEAMNY 58,860 58,860
401 AIEHIZL 20 58,860 58,860
01 JIE= A& A 58,860 58,860
OSHEAM JI= 2HES
3,000,000,000 * 4.36% * 45% 58,860
SIS EA cl28E X ZE FHHISA 394,243 394,243
401 Al EHIL 2| 394,243 394,243
02 AAIZAH 21,579 21,579
O2z/EAt cl22E
370,000,000& * 5.832% 21,579
04 AlEHI 370,000 0 370,000




= A

DV

Seliansamn (25:22)
SN EH.S(3) - MEAY - BAS O At ot i HRE2
O3 HA 222 370,000, 000& 370,000
06 AlE=20Hd] 2,664 0 2,664
OolalEA 2l2u
370,000,000& * 0.72% 2,664
HESHAH| (HE) 89,504 133,920 N44 416
Cled2 Y| (L) 38,880 32,460 6,420
ClEA2HY| (L) 38,880 32,460 6,420
203 YR &b 4,680 4,860 A 180
04 ENSIYERFEHI 4,680 4,860 A 180
ORMN2HYRFAHI 4,680
—300!10| &t 350,000& * 12& 4,200
—31¥ 0/ &t 5,000& = 8 x 12& 480
204 X PHAY| 34,200 27,600 6,600
01 HMSHIHEH| 1,200 1,200 0
OXMZBHRF=EHI 1,200,000& 1,200
03 SHYER>HESH| 33,000 26,400 6,600
OSHARL B SY| 33,000
—Heggyzes
100,000 = 20 = 12& 24,000
— 2SR 50,000& * 4™ x 12& 2,400
—=AR)ggzod
100,000& = 3% = 12& 3,600
—5H YRy Re
50,000& = 5% = 12& 3,000
JI2HHI (2 50,624 101,460 50,836
JI2d8 (N 50,624 101,460 A50,836
201 LBt24dH| 27,824 17,820 10,004
01 ArR2t2lbl 27,824 17,820 10,004
Ogt=2H| 11,984,000& 11,984
O=&H| 5,0008 * 24 x 11 = 128 15,840
202 o4 H| 22,800 83,640 60,840
01 2UWodl| 22,800 83,640 A60,840
OJI2gfe 50,000& = 38YH = 128 22,800
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